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Bl | e | oA | g | amd | oA | & | & | & | & | @ | &
T B (As) | (cd) | Pb) | (Hg) | (Cr) |Bromate)| (As) | (Cd) | (Pb) | (Hg) | (Cr) | (Fe) | (Mn)
1 1 0.2 2 50 5 2 10 | 0.2 | 10 | 100 | 25
ppm ppm ppm ppm ppm ppm ppm ppm ppm ppm ppm ppm ppm
LA RS
111.08.02] -kzi=-ksr | <0.29 [<0.04]<0.29 [<0.002]<0.10 [ 14.2 [<2.94(<0.39]<2.94][<0.002[<0.98 3. 29
111.08.02] & #i= -k | <0.28 [<0.04] <0.28 [<0.002]<0.09 | 14.7 [<2.96(<0.39 ] <2.96]<0.002[<0.99 2. 08
111.08.02] P » %% -k [ <0.29 [<0.04] <0.29 [<0.002] <0.10] 29.5
111.08.02] 24k k3 [ <0.28 [<0.04] <0.28 [<0.002] <0.09] 17.4
111.08.03] % = -k3k | <0.28 [<0.04] <0.28 [<0.002] <0.09 ] 21.7
111.08. 03] % % = ;£ -k 3| <0.29 [<0.04] <0.29 [<0.002] <0.10 [ 21.8
111.08. 03] % = -k | <0.29 [<0.04] <0.29 [<0.002] <0.10 ] 20.7 [<2.93[<0.39]<2.93]<0.002][<0.98]12.0 | 1.28
111.08. 03] =+ 2z k3 [ <0.30 | <0.04] <0.30 [<0.002] <0.10] 25.9




